
195 W. Ryan Rd. • Oak Creek, WI 53154
Phone: (800) 527-7500 • Fax: (414) 764-4298
www.elwood.comFLEXIBLE SHAFT MACHINES

Flexible Shaft Machine
PRICE LIST

Effective: January 1, 2023
F.O.B. Oak Creek

WY-02-108-A23

Supersedes all previous prices • Prices subject to change without notice

Page 1
PART NO. MODEL 

NO. DESCRIPTION PRICE

342-050
342-056
342-218
343-400
343-401

3400
3400

Coupling, Motor, Fish Scaler & PS-01
Coupling, Motor, 49-5 & 49-6, Plated
Assembly, Quick Change
Assembly, 3400 Couplings, 1/2” size
Assembly, 3400 Couplings, 5/8” size

$195.00
$46.48
$64.66

$114.00
$114.00

343-402
343-403
344-100
344-107
344-150

Coupling, Motor, 1/2”, Plated
Coupling, Motor, 5/8”, Plated
Support, Shaft, Black Oxide
Support, Shaft, Plated
Support, Shaft, PS-01 & FS-01, Plated

$38.91
$38.91
$64.59
$54.45

$167.00

345-451
345-452
345-453
345-500
345-503

550MP
550MP

Coupling, Motor, 5/8”
Coupling, Motor, 3/4”, Plated
Coupling, Motor
Coupling, Motor, 550MP-5/8”
Coupling, Motor, 550MP-3/4”

$43.14
$58.84
$47.44

$160.00
$139.00

346-284
363-140
363-146
382-429

314-FSC
314-FS

Support, Shaft, Plated
Head, 314-FSC Cutter, Complete
314-FS Fish Scaler Cutter
Driver, Hex

$190.00
$1073.00
$348.00
$37.57

383-544
385-442
390-600
410-055
410-101

Driver, Hex, 3500 Handpiece
Sleeve, Hex
Switch, Clipper Foot, with Guard
Switch, ON/OFF
Assembly, Motor Base, 1/4 HP, 1725 rpm, 115V

$22.54
$42.72

$470.00
$60.62

$1050.00

420-202
420-203
420-204
420-205
420-206

49-2
49-3
49-4
49-5
49-6

Assembly, Motor, 49-2
Assembly, Motor, 49-3
Assembly, Motor, 49-4
Assembly, Motor, 49-5
Assembly, Motor, 49-6

$777.00
$793.00
$805.00
$944.00
$901.00

420-214
414-037
431-453
432-022
432-314

49-14 Assembly, Motor, 49-14M
Wrench, Hex Key, 5/32”, Short Arm
Bolt, Carriage, 5/16” - 18 x 1
Nut, Hex, 5/16” - 18, Zinc Plated
Nut

$993.00
$2.71
$2.70
$2.70
$23.97

432-545
433-203
434-013
434-030

Nut, Hex, 9/16” - 18 UNF-2B Thread
Pin, Dowel
Set Screw, 1/4” - 28 x 1/4”
Screw, Socket Set, 5/16” - 18 x 1/4” Cup Point, Black Oxide

$14.37
$2.70
$2.70
$2.70

434-217
434-614
481-014
481-015

10
10

Screw, Drive, Size 2 x 1/4”, Type U
Screw, Thumb, 1/4” - 20
Assembly, #10 Industrial Flex Shaft, 1/2” size
Assembly, #10 Industrial Flex Shaft, 5/8” size

$2.70
$12.06

$543.00
$533.00

PART NO. MODEL 
NO. DESCRIPTION PRICE

022-240
023-050
023-051
023-056
023-140

305
305-R

315-P

Coupling, Nylon
Assembly, Wheel Arbor, 305 
Arbor, Wheel, 305-R
Arbor, Wheel, 305-RF
Arbor, Wheel 314

$47.73
$27.00
$20.79
$20.62

$134.00

023-150
024-050
025-050
025-054
026-050

405
505

505-R
605

Assembly, Wheel Arbor, 315-P
Assembly, Wheel Arbor, 405
Assembly, Wheel Arbor,505
Arbor, Wheel, 505-R
Assembly, Wheel Arbor, 605

$122.00
$33.09
$50.95
$23.17
$35.17

083-094
084-075
091-031

Assembly, Base Plate, Motor, Welded, Slot
Base, Flex Shaft Machine, 5 Leg
Bearing, Ball, Rad, .906” OD, .312” Bore

$65.01
$361.00
$15.81

091-040
091-051
091-400
092-202

Bearing, Ball, Rad, .906” OD, .375” Bore
Bearing, Ball, Rad, .906” OD, .438” Bore
Ball, Steel, .25” Dia.
Ball, Stainless Steel, .187” Dia., Grade 25

$12.17
$25.13
$2.70
$2.70

095-514
098-332
098-334

Bearing, Ball, 1.25” OD, .500” Bore, Double
Bearing, Ball, 1.378” OD
Bearing, Ball, 1.378” OD

$18.22
$12.47
$13.15

150-500
150-501
175-360
211-015
211-025

BB-5
NB-5

K-10
K-01

Brush, BB-5 Brass, Bristle
Brush, NB-5 Nylon, Bristle
Bushing, Reducing, Machined
Assembly, Casing K-10
Assembly, Casing K-01

$70.74
$56.49
$24.58

$179.00
$245.00

211-205
211-206
211-217
211-507
321-015

K-02
K-2
K-30
K-4

C-10

Assembly, Casing K-02, 5' length
Assembly, Casing K-2, 6' length
Assembly, Casing K-30
Assembly, Casing K-4
Assembly, Core C-10

$294.00
$294.00
$317.00
$378.00
$71.16

321-025
321-205
321-206
321-307
321-507

C-01
C-02
C-2

C-30
C-4

Assembly, Core C-01
Assembly, Core C-02
Assembly, Core C-2
Assembly, Core C-30
Assembly, Core C-4

$89.29
$89.29
$93.90

$122.00
$132.00

342-003
342-014
342-024
342-041
342-048

Coupling, Motor, 49-3, Plated
Coupling, Motor, 49-14, Plated
Coupling, Motor, 49-2/49-4, Plated
Coupling, Motor, 49-3, Plated, 1/2”
Coupling, Motor, 49-3, Plated, 5/8”

$60.36
$63.00
$65.78

$162.00
$60.06

082-095   Assembly, Motor Base, 1/4 HP, Black Oxide $111.00

305-RF

jh
Cross-Out



195 W. Ryan Rd. • Oak Creek, WI 53154
Phone: (800) 527-7500 • Fax: (414) 764-4298
www.elwood.comFLEXIBLE SHAFT MACHINES

Flexible Shaft Machine
PRICE LIST

Effective: January 1, 2023
F.O.B. Oak Creek

WY-02-108-A23

Supersedes all previous prices
Prices subject to change without notice

Page 2

PART NO. MODEL 
NO. DESCRIPTION PRICE

481-024
481-025
481-055
481-204
481-205

01
01

10-R
02
02

Assembly, #01 Industrial Flex Shaft, 1/2” size
Assembly, #01 Industrial Flex Shaft, 5/8” size
Assembly, #10-R Industrial Flex Shaft
Assembly, #02 Industrial Flex Shaft, 1/2” size
Assembly, #02 Industrial Flex Shaft, 5/8” size

$620.00
$639.00
$461.00
$629.00
$711.00

481-206
481-207
481-214
481-236
481-316

2
2

2-R
30

Assembly, #2 Industrial Flex Shaft, 5/8” size
Assembly, #2 Industrial Flex Shaft, 1/2” size
02 Flex Shaft Assembly, 20” long, Special, EPT
Assembly, #2-R Industrial Flex Shaft
Assembly, #30 Industrial Flex Shaft, 5/8” size

$664.00
$722.00
$676.00
$632.00
$797.00

481-317
481-337
481-506
481-507
481-537

30
30-R

4
4

4-R

Assembly, #30 Industrial Flex Shaft, 3/4” size
Assembly, #30-R Industrial Flex Shaft
Assembly, #4 Industrial Flex Shaft, 5/8” size
Assembly, #4 Industrial Flex Shaft, 3/4” size
Assembly, #4-R Industrial Flex Shaft

$781.00
$638.00
$887.00
$887.00
$725.00

490-002
490-202
490-203
490-204
490-205

49-2
49-3
49-4
49-5

49-2, Flex Shaft, w/o Quad, Industrial Machine
49-2, Flex Shaft, Industrial Machine
49-3, Flex Shaft, Industrial Machine
49-4, Flex Shaft, Industrial Machine
49-5, Flex Shaft, Industrial Machine

$1386.00
$1726.00
$1794.00
$1953.00
$2297.00

490-206
490-214
490-115
490-116
502-211

49-6
49-14
FS-01
PS-01

49-6, Flex Shaft, Industrial Machine
49-14, Flex Shaft, Industrial Machine
FS-01, Fish Scaler, 115V
PS-01, Plate Scrubber, 115V
Gear

$2079.00
$2703.00
$2411.00
$2526.00
$156.00

533-146
534-140
535-576
541-162
552-505

314-G
414

5576

250S

Guard, Welded, 314-G
Guard, Wheel, 414
Guard, Wheel, 5576
Handle, Cross, Assembly
Assembly, Handpiece, 250-S

$298.00
$419.00
$136.00
$57.35

$854.00

552-506
553-500
555-510
571-510
573-852

250FH
3500
551

Assembly, Handpiece, 250FH
Assembly, Handpiece, 3500
Assembly, Handpiece, 551
Extention, Hook, Plated
Hanger, Handy, Plated

$280.00
$209.00
$239.00
$34.71
$84.68

582-215
612-210
655-143
702-100
702-214

514-B

Housing
Key, Woodfruff, 1/16 x 5/16, Plain Steel, Std.#202.5
514-B Grease, Flex Shaft, 14oz. Cartridge, NLGI #1
Ring, Bearing Lock
Ring, Retaining

$253.00
$2.70
$43.68
$42.98
$2.70

703-405
705-513
708-380
742-207

Ring, Retaining
Ring, Retaining
Ring, Lock
Assembly, Seal, 250-S

$2.70
$2.70

$19.80
$39.19

PART NO. MODEL 
NO. DESCRIPTION PRICE

742-417
743-565
762-218
762-501
762-512

Assembly, Seal, 250-FH
Washer, Felt, 344” ID x .81” OD x .13”
Socket, Quick Change
Shell, Handpiece, Plated
Sleeve, 251-N Handpiece

$60.79
$7.82

$78.51
$71.27
$63.00

765-501
765-502
773-102
778-380
782-208

Shell, Handpiece, Black Oxide
Shell, Coupling, Plated
Socket, Handpiece
Socket, 1-1/2” HD, 532-Q
Spacer, Tube

$84.66
$35.16
$48.69
$69.00
$17.11

782-280
782-450
783-140
783-528

Spacer, 251-N Handpiece
Spacer, #10 & #01 Coupling
Spacer
Spacer

$14.13
$19.08
$28.66
$19.07

785-280
785-282
792-030
792-031
792-204

Spacer, Tube
Spacer, 550MP, Motor Coupling
Assembly, Snap-On Extension
Spindle
Spindle

$18.12
$5.94

$57.51
$69.47
$68.05

792-213
793-503
795-072
802-201
802-202

Spindle, Pinion Gear, Finished
Spindle
Spindle, #507-P
Spring, Compression, Handpiece
Washer, Wave

$126.00
$37.37
$24.13
$2.70
$2.70

802-216
804-320
805-320
883-125
883-126

Spring, Compression, Handpiece
Spring
Spring
Washer, Flat, 5/16”
Washer, Lock, 5/16”, Steel, Zinc Plated

$4.79
$2.70
$2.70
$2.70
$2.70

883-145
886-120
886-130
893-140
894-722

Washer, Flat, .63” ID x 1.13” OD x .09”
Washer, Flange, 1/2” ID, Black Oxide
Washer, Flange, 5/8” ID, Black Oxide
Wheel, Cutter, Fish Scaler
Wheel, Caster, Quadpod

$9.49
$5.86
$9.88

$23.97
$21.96

981-317
994-591
994-592

CK-30
459-A

459-AP

Core & Casing, CK-30
Wrench Set, 459-A, Plated
Wrench Set, 459-AP, Plated Black Oxide

$381.00
$67.64
$46.20




